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A IR 282 (H30.6.28)
AEME | BRI | EOY HS59  |TEE T RIB TN e e | BIEIEDE] ATIHAT
Pfl RBFRX| 2 "
Om 26.5 26.3 26.1 24.7 26.3 26.0 0.3 255
2m 25.5 25.8 25.6 25.2 25.6 25.2 0.4 24.6
5m 24.4 24.9 25.2 248 24.8 23.8 1.0 245
10m 23.9 24.3 24.4 24.1 24.2 23.0 1.2 -
B-1m 22.8 22.3 23.2 23.2 22.8 225 0.3 23.6
x2 &85
T B8 382 (H30.6.28)
AEMR | BRI, | EOL H59  |TEIET T RIS TN e gy | BIEIEDE | FTIHAET
Pfl RBTRX| 2g "
Om 244 24.7 250 178 24.7 314 A6 171
2m 25.6 26.1 26.3 25.3 26.0| 31.8 A58 246
5m 28.7 28.4 27.7 27.2 28.3 33.0 A 47 27.3
10m 324 315 31.3 31.0 31.7 33.5 A18 -
B-1m 33.5 33.7 33.4 33.9 33.5 33.7 A 02 325
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Om 88 86 83 85 8.6 7.5 1.1 8.2
2m 8.7 8.5 7.9 85 8.4 74 1.0 7.6
5m 6.0 7.6 7.3 7.7 7.0 6.8 0.2 6.9
10m 55 6.0 6.3 6.2 =
B-1m 5.6 5.8 6.1 5.9 5.6
4 KE-FEBHRE (m)
mas | maos | Bow | #oo |[PRRA] mag
ék*;%ﬁF 16.3 24.3 178 13.8 938
125 BA 25 25 2.0 25 1.5
B [21(6/28) 4.5 5.5 5.0 3.5 3.0
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Om 0 0 0 0 200
EEIA | 2m 0 1 0 0 350
5m 0 0 0 0 50
Om 0 0 0 0 300
EDE | 2m 0 0 0 0 450
5m 0 0 0 0 150
Om 0 0 0 0 500
154 2m 0 1 0 0 650
5m 0 0 0 0 150
= Om 0 0 0 0 20
be 90541950058
*%qm{iﬂ“&" 2m 0 1 0 0 200
5m 0 0 0 0 450
Om 0 1 0 0 200
ik L0 2m 0 1 0 0 150
5m 0 1 0 0 100




